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Note : This paper is of thirty (30) marks containing three
(3) sections A, B, and C. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given therein.
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Section-A / GUs—d
(Long Answer Type Questions) / (&€ IR 7%H)
Note : Section ‘A’ contains four (04) long answer type
questions of seven and half 7% marks each.

Learners are required to answer two (02) questions
only.
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Discuss caste system and social life in termites.

e & TG Siad BT fRaRydd o S |

Describe the life-history of Silkwork and give the
economic importance.
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What is the measurement of Central Tendency ?
Example the type of central tendency.
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Write an account of innate or instinctive behaviour,
giving suitable example.
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Section-B / Yrs—Yg
(Short Answer Type Questions) / (g STRIF U%H)

Note : Section ‘B’ contains eight (08) short answer type
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questions of two and half 2% marks each.

Learners are required to answer four (04) questions
only.
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1. Difference between learned and innate behaviour.
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2. Explain the conditional reflex with the help of suitable
example.
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3. Discuss with suitable example, the role pheromones

play in animal behaviour.
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4. What is Communication ? Describe chemical
communication in birds.
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5. Describe waggle dance in honey bee.
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6. Describe the characteristics of social insects.
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7. Find out mode :

Cl F
15—25 30
25—35 40
35—45 100
4555 110
55—65 80
65—75 30
75—85 10
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8. What is the difference between Primary data and
Secondary data ?
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Section—-C / Gue—T[
(Objective Type Questions) / (A& T)

Note : Section ‘C’ contains ten (10) objective type

questions of half % mark each. All the questions

of this section are compulsory.
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............... are controlled by brain.

................. Wmﬁ'qﬁﬁmgl

The activities of an organisms associated with eating or
drinking represent............ behaviour.
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T 2 |

What are conditional reflexes ?

yfcae il fobar @ 8 ?

Oestrogen is responsible for ........... :

The axons of sensory nerves are called .............. nerve
fibers.
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In social organisation, there is a system of .........
hierarchy.
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Write the full name of EEG.
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Ranikhet disease is found in :
(@) Fowl

(b) Fish

(c) Ducks

(d) Turkeys
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